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A = 0.21 1.30 =] 0.27( ) 3 2
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1
« ) R0620
( ) 0.15 57, 000 8,550
( ) RO6 40
( ) 0.31 38, 400 11, 904
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( ) 0.18 33,600 6, 048
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1 10, 986
A=2 B=14
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C = 0.13 0.80 =[0.10( ) 3 2
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A=1 B=1
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A=1 B=26 450m2 600m2
F=1 [ 1] G=1 [ ]
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SF150700011 0 -0036
1
« ) R0620
( ) 0.63 57, 000 35,910
( ) RO6 40
( ) 2.16 38, 400 82,944
1 118, 854
A=1 B=1
A = 0.21 3.00 =[0.63( ) 3 2
C = 0.72 3.00 =|2.16( ) 3 2
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0-0045

SF150700011 0 -0037
1
« ) R0620
( ) 0. 36 57, 000 20, 520
( ) RO6 40
( ) 0.72 38, 400 27,648
« ) ( ) R0645
( ) 0. 42 33,600 14, 112
1 62,280
A=2 B=1
A = 0.12 3.00 =[0.36( ) 3 2
C = 0.24 3.00 =[0.72( ) 3 2
D = 0.14 3.00 =/ 0.42( ) 3 2
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